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T RS (WAE) F 9¢ & T4 8 @ s / WRITTEN TEST FOR THE
POST OF TECHNICAL ASSISTANT (MECHANICALY

1. AN REAE) k1=50N/mm 21 k2=100N/mm & ar & fereher fatt & for 8 SeRIqRar wias od
T HUEET # e & $| af2 S0kgf A1 & Ty e fy womelr @igs ear 7 a1 aeat v
T e & e & afome Reieer FARAR e Ea 8@ & 'g' = 10m/s?)Two helical

Splingﬁ.ul‘_btiﬂ'ne_ﬁ k1=50N/mm and k2=100N/mm are connected in series and parallel combinations as
shown in fizure, il the system of springs is loaded with 50kef load then the resultant deflection of springs in
parallel and series combination respectively is: (assume g’ = 10mvs’) ‘
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Shlkegf
{ay 3. 33Immand l>mm thy  5.3mmand |2mm
(cy  15mm and 3.33mm (y  12mm and 5.5mm

2. T fawmr giRa e faen ses w1 wenrEd @ aF yanfEa 1 F6a & Faes
T3 FT T &/ The muximum energy that can be absarbed up o the elastic limit, without creating a
permanent distortion s citlled

1l,.[--is',[’d 'ﬂj‘l‘ﬂ?ﬂm-'l'mui' resilience

(b) eATEAT & A3ged/Modulus of resilience
(c) Teel Toughness

() HreFAEAT gear Flexural rigidity

3. qumywm#mwmmmmﬁmsuowawﬂsﬁg#ma.

ﬂﬁ?#ﬁtﬂﬂﬁ&ﬁ?.qmmﬁﬁmﬁaf&ﬁgé:mmzﬂmmﬂmﬂm#mmm
FA T A AR s & JH= e &1 ofr s BT/ When a rod of circular cross section is fixed

at one end and subjected to an axial load of SO0N. the deflection under the load is found to be Z.4mm, what
will be the amount of deflection under the same load if the dia of rod is doubled & Length is reduced to half

of the originai length.

Ly 1.2mm (by  0.6mm (c)
4. mm#,maﬁﬂmﬁmﬁaﬁﬁmnmmmmaﬂ- _—

on of follower to the normal 10 the pitch curve 15

0.3mm (dy  0.15mm

#/in rudinl cams the angle between the direction of mot

called i
_m/ FAT W Critical angle

(a) FF FIOT/Com angle [
{c) am FAOT/ Pressure angle () 3'“'%3?{ &t F15 FéiNonc of the above
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ﬁmgmwammm?xngaﬁamm:&z}:grm#ﬁmmmzrf%gnan-r;mm
:ru‘mrm‘q’%EGﬂkgtaTEﬁRfmmﬁﬂTZﬂ?wwmﬂmﬁl JateE & far

Pz F T O (GTAH) %ﬁ FAAn eye bolt is 1o be made out of smcﬁi having an I:F“qu:'ﬂf I;;r;-:-,'r[-:
® If Toad 10 be lifted using this eve bolt is S00kgf then using factor of safety of 2 find

strength of S00N/mm
the core diameter (minor diameter) of the thread for eye bolt.

(b} SV(5/n) mm (¢)  153(5/r) mm (dj  2¥(5/) mm

(a) AN(5/1) mm

frafaa o @ g aad wama & Rl wEer #-E 8/Which of the following s

6.
dimensional formula for kinematic viscosity? 1 . 1
(@) L*M°T! () LM'T? () LMT? (d) L°MT
7. AR E@WT FEA @EE, S dd@ad V. iz wFR L7370 FEdaar p’ 6 dae o’
AT BT ?ﬂhc only possible dimensionless group that combines velocity V', body size "L°, Muid
density *p* & surface tension “a” ; g 2
{a) Lpa/V (h} p‘u’L:J"cr [F} alL.V/p jd)  pLVe
B. AW ¥ 1.5x 104 m¥s EITAR AT § @ A o 0.6 &1 kg/ms gfvet & afadE

T8 T & An oil has kinematic viscosity of 1.5 = 107" m/s and specific gravity of 0.6, what is the

dynamic viscosity in ke/ms units

(=) 0.09 kg/ms by 09kg/'ms 9 kg/ms

(c) 0.009 kg/ms {d)
vw =fa wEE GRS aud, afy W & SEwE 200em? aUT T Y ward 15cm U
Fid 60rpm # Bt Frar & @« & 30 #=F 9w & FBEEnt HrET §iar #n a double

acting reciprocating pump if the area of piston is 200cm’ and length of stroke is 15 em and crank is rotating

at 60rpm, then neglecting the losses, the discharge of pump is:

fo) 6 Litre / min (b1 60 Litre / min Aoy~ 360 Litre/min (d) 200 Lire/min
10, THAid WaE A — H1SZ § TET WaTg & SUTH FH £ a7 7T« a9 JioE & is the
point in a fluid stream where the diameter of the stream is the least, and Muid velocity is maximum,
(a) ﬂ'FlT FIgIFC Vens contracta -~ (hy frftsw 9IS /Critical point
(c) YT GIEC/Neutral point (d} Teq &g & ﬂTéEanlnl of centre of gravity

1. 10.m/s S97 % &1 Im E0RT & Jeelier arsw 7% ster qoferar wanfa s 21 i jom waTE arEy & v
fiererer fader & mor 5 31w 22 0.2m 1 &t v/ & ot o @ & (e & sReT g F

FHYT /G197 = ; ; i : . h
10m/s2)/Water is flowing fully in a circular pipe of diameter Im with a velocity of 10mys if

loss of head due to friction ; i
15 0.2m for a - hat | ici icti
acceleration due to eravity g =|[1mf5?] ; pipe length of 10m what is the coeficient of friction (assume

0
(a) (b) 0.00] (€ 01 Ld'f/‘ 0.02
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12. wmmﬁﬁtﬁmﬁw#ﬁmacmmhﬁmcmﬁlHﬂ‘msrmrm#
TER AW X AT W bem I3 N FEF AW F FE W § AU G F WA AT

224z cm?, & tﬁa & SEEH & T & RSAr —-——— §AT 8/ The radius of lower base of a right circular

cone is 8 em ond height is 10 em. 11 a plane parallel to its base cuts the cone at a height of 6cm from the base
and the volume of frustum of cone is 2247 cm’ then, the radius on top of frustum of cone is,

(@) 6om (b) 4em () 3em- (dy 2cm
13, |x log x dv =
) * (logx- % )2 (b) logx - X
€ log x(x-1) (d) e -1)-2

14, lim, (V(2x + 35) - S)(x+5)
Am S ) e (€) INs (d) 1725

15, TRNESin 3x=Cot30 x Sin 150, Aithen x is
';ﬂ‘ -:Du {h‘ lﬁu (C} :“]ﬁ {ll} ﬂﬂﬂ

16.  TIRNET X + 39" + 4 + 6x = 100, TMfthen (dy/dx)s oy s,

(@) -3572 oy -53m2 (). 5972 dy 6172
17. & a=igifes Felteaor &, x2 + (¥6 — V3)e-v15 = 0 w=f & o u—n'vgumqm EECe - S P
quadratic equation, x* + (V5 = V3)x=15= 0, sum and product of roots are,
(2)  (v3—v5) and 15 (b} (v5—v3jand—V15
(¢) (V5 +3)andvls Ad (34 ¥5)and 15

18, Tamgifes @A & MU ax? + bx +c=0, 3% bP—4ac = 0 &t &= &/For a quadratic equation,

ax’ +bx + ¢ =0, if b’ - 4ac =0), then the roots are,
(a) AEATEH U FAT1Real and equal (b) AT v =T/Real and distinet
{c} mﬁm.’lmaginnw and cqual (d) ﬁ?ﬂﬁﬂ?mﬁﬁlmnginar} and distinet

m‘hmﬂmmmsqﬁﬂmﬁmdﬂﬁfﬁmqg%mﬂ:mmm

tis angle between hours and minules needle of analogue clock when the clock is showing time ns
?
9750 by  o0° (c)  ®a5° () 105°

GEG I aRaE e & 3w sefol wEamr et A TS The radius of bipgest

le that can be inscribed inside of an equilateral triangle of side lenpth *a’ is,
(hy  a/(v1) ey advmy W) avin

5 681 TAMECID)
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Wﬂ-mmhmmﬁﬁ.ﬁwm-
i 13 ' sem, Lithium- ide is used as
e Tromide refrigeration system, Lithium Bromi | |
/\L:'\i“ut':':;@: ‘{'fﬁ;ﬁgl Primary refrigerant (b) E{ﬁ?ﬁﬂ Tfarie/Secondary refrigerant
() FEYNEEH/ Absarbent (&) IudEd A F1% TE/None of aboyve

- & T A TOET w@

22. =z W THEF & TR A A TFWFind the wrong among the following properties of ideal
refrigerant _
(2) Yot FEUAE Low bailing point
(by T e Low freezing point
) == = FEHTLow Latent Heat
(Y Iear TEATES BNTAEGood chemical stability

.J

i«

23. 'R22 wigs & fov temaEs fﬁl‘@'ﬂt‘hcmiml formula for *R22" refrigerant
(a) HA FaA IS ﬁﬂ'\-‘.’l A/Mono chloro di fluore methane
J (k) Eré FENRT A fi-—(-{_ff #3771 chlore mono fluore methane
{c) EF.‘;' FAR! A= thvB:l #18+ /Di chloro meno fuoro methane
(dy 3T FART 3E ‘?T-El‘f AT /DI ehloro di Nuoro methane

24, u= e §dEE dneies woner &, 9% @9 T1' ug T2 & z@ FEAT FAA: 100 kkg T

ZETI'.:M{Q e }"rraam WIEE 0.5 8] WWSHE F I 590 §& Fn a vapour compression
refrigeration system, if liquid heat al temperature "T17 and *T2" are 100 k)/ke and 25kJ/k ivi
the dryness [raction at*a’ is 0.5, find Latent Heat of refrigerant ” SRR

52

(b) 300 kg (€) 150 kikg (d) 350k
-U K/kp
T RiRelative humidity is defined s :
IWT W AT & HRWei i
: Per unit weight of dry air

AT VAR e e
TETNApOUr per unit volume of air

‘apour iﬂﬂgii'un o 3!':‘-—[‘;} areq & G HT er: HHET arg A
Olume of air 10 mpss of water vapour if the air is
1€ Air 15
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TAETEEA FEA & Fod WA JOTe # AT fﬁmﬁﬁ E‘Elﬁ?r YAFT A o/Normally, the
following condenser s used in big refnigeration system of air conditioning plants
(a) &fAZ"E FEFAWDouble tube condenser
(v) VT U TYT FIAF/Shell and tube condenser
(¢) UF UF FBH FEAEUShel) and coil condenses—

i) ey Ei'\_s'?{HTIEvnpor.ﬂive condenser

27. m:wﬁﬁanﬂﬂuﬁmmﬁ.mmm*mgﬂﬁ#ﬂaﬂwwt’hmm

shafis are imersecting at 90°, then, which of the following gears are recommended for transmission of

power?
(W)  F WTUSpur gear (b)  Fas Fravbevel gear
() ¥iowa Foeiictical gear (d)  ZFEelt WIET/ Tumbler gear

28 £S5 TTH T LEEC WaSa b B Wi t/Which of the following machine employs

quick retum motion mechanisim?
(&) TBTET F9EMilling machine (by  EET #IEUGrinding machine
ey N I Shaping machine () BfEs #W/Drilling machine

29, ﬁﬁmﬁam@mﬁﬂmﬁﬂﬁﬂiﬂﬁﬁﬁﬁmﬁﬁﬁmmﬁmwm
T FFHT BIWhich of the following is used in lathe 10 give desired
carmnage vin lead screw or the feed shafi?

I}nf' T Fr/Bull pear (by 9= ﬁ'ﬂ"’-‘l‘ﬂ(‘.hnnge gear
() HET TUTMitre gear () TS Y Tumbler gear

direction of movement to the lathe

30. T & ZanT urgHt @ g2T &, o aF dr

&/The process of removing the

mﬁmn#ﬁwqﬁamﬁ,ﬁmmm

metal by cutter which is rotated against the direction of travel of work picce is

T/Down milling \{h‘j\ T TATETUp milling
/S 1raddle milling (d) ¥ AfGang milling

R & U s T & atEner @ A ¥ FT - @1 FWhich of the following is
aSu., { of cutting speed for cutting 100l material?
Steel, Solid Tungsten Carbide, 1SS, Ceramics & Diamond
5 53, Solid Tungsten Carbade, Cermmies & Diamond
, Tfers Zareest aaide. vavar ud g
el Solid Tungsten Carbide, 1155 & Diamonil
EITEE ATATEE, CATHTH vH e

1, Solid Tungsten Carbie, 118y & Cernmies
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ﬂéﬁmwmwmﬁﬁwﬁqaaﬁ%mm
Rro et & 3iaX Rhe fRAT SCLEH YER & o

» constructing a supporting block

; STOT Yaell e
T TEE & 9 A FH A F

Y ¥Sageing of thin pattern due to ramming can be overcome by

nav fit inside the pattern to serve as a support during ramming such a pattern is called n/

A1 T UeiiMatch plate pattern (h) Bl a2 dea/Follow board patte
e W9 Y=1/Built up pattern (d)y s 3T deA/Lagged up pattern

Ba UFateRE, saeniasies uikdr, TaiEe JEEer G FoffgRor wg fwm
& ToU 9gad HLdl F/Mechanical pulverization, Electrolytic process, chemical reduction

-ess and atomization are the different processes employed for:
o 3 el & Riaes & Ted i W@l § FEeiMixing of different constituents
before melting of metals in furnace

~ qrs=r Aeds 7 Est &1 durlifPreparation of powders in powder metallurgy

 FITETH ¥ UTETSE U ZEaT/Cleaning and deburring of castings

) FeedH & ™7 Ade SR T ufiha/Surface linishing processes for castings

& ¥ TG FUT FhA-FT B/ Which among the following statements is incorrect?
ay  WEX AQIT ¥ SR AR Qe &l T Aioaet of

If *cyvclic integral of dQ/T is zero’, then cvele is reversible

(b) uﬁ dqnﬁﬁaﬁi‘mmﬁar—ﬂﬁm%a’rw IreaaToRTa B/
cvelic intep £ AT is less than zero’, then eyele is mwumbiv/ﬂ

ol o A HRFE A Ta HEFT &/
of dQ/T is preater than zero’, then cycle is impossible
s T 3t ar AT B A T eIt i

b /T 15 greater than or equal to zero', then eycle is imeversible

S ik YT 2 kW B, 9T 27 C A ava grar &1 afy 201 st e & s
T aF oo w0 &1 W I wat @) osew, Radis ey 8 A
AW F ard ge (e Tl i skke @9 2 Water @ 27°C is heated

. v, : )
_ IT the geyser is Mlled with 20L of water and heated for n duration of

L Witer IILE"'L""L all the heat 1
055
ras Sklkg) ) 5, assuming pressure inside the geyvser

(c) 65°C (dy q0°C
e B W REmamr 2= %o o o e
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g & {u v qr &1 3w & A gdEs a1 w/1dentify the compressor for the PV diagram showi in

figure

(a) UFe TLOT TAEH/Sinple stage compressor

(b) & T FAEH Two stage compressor

(c) Eﬁﬁﬁm ¥ ww 19 Txor HAEE/Two stage compressor with intercooling
Ad T A F WY & IO FUEH/Two stage compressor with heat addition

38. 10m/s, 100kpa T4 1m3;kgﬂwaqﬁrﬂgmé:nmﬁ 1kgls #7 &7 W arg faaw vared
FT ¥ o Bmis, BOOKPa e 0.2m? /kg # BIS 2 & mmﬁmmmmm
SO # 100kJikg 3 ¥ Blew S & SR S 100kW Y G W A H I R

w0 ¥ Tow oo & & &t &3 AIr Mows seadily at the rate of Ikgfs through an air compressor at

10m/s, 100kpa and 1m® fke and leaving al bm/s, 800kPa and 0.2m’ {ke. The internal energy of the air leaving
is 10050 ke greater than the air entering. Cooling water in compressor jacket absorb heat from air at the rate

of [00LW, Find the rate of work done.
fa) 260 kW (b)y 480 KW (c) 320 kW {d) 540 kW

39, @niz gorr fY garem gent & fov st waramel §FY @t & ol T v o T2 e
B/More elfective way ol inereasing efficiency of Carnot engine where T1 is souree and T2 is sink is:
Nat Tﬁﬁmmﬁiﬂ 11 Y EGE Increase T1, Keeping T2 as constant
b) T @ e e §U T2 1 HEAT Decrease T2, Keeping T1 constant

' Al eTHT 31T ¢Increasing efTiciency is impossible
Ci H &% J61/None of the above

O T e e o, a5 3 6T 1000rpm 3 T &1 AR iR wed @ 400kpa §
0.5 A1 §ofeT & da 9a g7 &/n a 1000CC four stroke 1C engine with crank running at

the mean effective pressure is 400kPa and efficiency of engine is 0.5, then break power of the

47 kW (c) 35 kW (d) T9KW
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Aatdd & ¥ Sefad-tdis S tefehy @ /Choose Kelvin-Plank statement among the following
wF U OF # Acad IenRd @ A 3w gt & AU wna ¢, e v B oy
RS & |y & Fuw fASaT ST 8/ 1t is impossible for a heat engine 1o produce net wark in 5
complete eyele, if it exchanges heat only with bodies at a single fixed temperature

y s Rdw, BT & A e g S weiEa A dfaa w §5T $el /e 418
I TEAT TETGROT F NAET S uNE Ieuifed el HLal/ is impossible (o construct a

device which, operating in a eyele will produce no effect other than the transfer of heat from a cooler
to hotter body

(€) Hﬁ’.’&ﬁ trundy W& d@ar §/Entropy of universe is always increasing
(dy 3“1_5'133 A 'cﬁ‘l‘é’ Fel/None of above

W & T Faades WHA ‘0" UBe F &1 & graen #§ § o TUT2 uad T1/73

gdl F 9T FAW BT B/If three coplanar concurrent forces acting at a point ‘O are in
equilibrium, then ratios of forces T1/T2 & TI1/T3 respectively are

=3

T T4
~ o
] L] r (s
12080 9 [ Q
S| 1s0em ?/‘l :
I
U
13
/;:( ¥3 and Y32 (b) 32 andy3 (¢) land% (d) ‘and|

3. =4 § FT9-9 U9 Bhng q‘l?g?-m & HE F AT B/ Which of the following statements
with respect to simple pendulum?
(a) mm#mwmwm#ﬁﬁaﬁéémﬁm
& Mhe time period of simple pendulum is directly proportional to mass of the body suspended
free end of string, s
(b) TEUS degea &1 FraEt far f1 da8 & =g
£l g 3 R ) w * w & HHINTAF 2/The time period of
simple pendulum is directly proportional 10 square roat of length of the siring
Wﬁﬁaﬂﬁmﬁmmﬁrqm#w U F A v F anmmiie B/ The ti
period of simple pendulum is inversely proportional o square root of i e
RS O Fromaft e & R wia iz

simple pendulum does

is false

at the

acceleration due ro graviny

o | SEURTE Oy At TE &/ The
not depend on mass of the hody suspended at he end of string

e A R cafa e faan st 300
t*lif?ﬁrﬁlarﬁrcﬁanimgmm:,,

M/SIWA persan standing on a jow

0T 3% MUCIE I ) Y —
Wqﬁnmﬁr%:ﬁm%

er ol height
an angle 30° 1 s . BN O0m throws an obiec :
! M : NeCt upwards

sround (tike g - 1ﬂm;;l;hL Find the 101l time taken by the obicc P . ards with a
(h) 304 ) b Uaect o gain maximum

(c) fis

(d)y 165
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%mmﬁﬁmﬁr&raﬂﬁr@mmﬁ.ﬁmﬁwﬁﬁm

dins of *r* metre and

~ Fyzar wd N rpm & dlia
ey @ A g A Y TE

G ALS centrifugal foree acting on a hody
.4 of N rpm is ‘F7 newton. I the centrifugal force need to be doubled either
the speed and radius respectively are

ceeping speed constant, then
JIN, 27 () YIN2r Sey 2N,i2 (d)

af mass “m’ kg rotating at a ra
hy keeping radius constant of

2N, V2r

w@ﬁmﬂ%aﬂrwa‘mwaﬁ#qﬂﬁﬁﬁm
ﬂ?ﬂaﬂﬁfﬁﬁnﬁmkmph’é‘ﬁmﬁﬁf?ﬁﬁﬁﬁ%m

aEg & T 'vi&' ST water in a stream 15 [lowing with a
bank. if the velocity of boat in a
hen the time taken .

saﬁrﬁmzakmphaw$mﬂ
mr&@uﬁ:ﬁﬂ%ﬂﬂ.ﬂaiﬁﬁw
;waﬂiﬁﬁwﬁmaﬁaﬁrﬁ#ﬂ;

£ 20 kmph and a boat is wavelling from one bank 1o another
1o dircetion of stream is 20 kmph and width of the stream 15 2km, 1

hoat makes with the direction stream is,
(b) 9 min, 30° (c) 12 min, 607

000 m g &7 TF g UK FE £

1000 m is cruising at a speed of

velocity o

direction perpendicular
and the angle at which
(aY' 6 min, 45°

&

(d) 9 min, 90°

rﬁpuumm#ﬁaﬁgumph?ﬁmm%m1

—-l\t
<A W w & e frew e RN1F a train of length
" 90 kmph and crosses a bridge of lenath 1000 m, what time does it inke to completely pass the bridge?

{8y 25s (by 8Os (c) - 3Ds 400 s

oo =9

8. wUA FIfE Ieahew #, 34 8 Fla-81 TEr Bin a first order lever, which of following is true.
] /tzr = 3T GEeT & @ WA £/Eort is between Load and Fulerum

(b) wETE 3R @i F A FersRA &/Fulerum is between Effort and Load

(c) Werdd H wART & @ @15 /] oad is between Fulcrum and Effort

(d) 3'q1§ﬁ‘?f F FI5 FAgl/None of Uie above

|
. uETYy fﬁﬂﬁnﬁﬁ et faxm & wEElr §, 38 e EfSubstances in which il
properties are independent of direction are called o fhe messred

. . QER&' .

57 F @mel w7 ierd/Percentage of carbon in high carbon steel is:
(b) .25 to 0.5%
(d) 1.8% ¥ SAET/Greater than 1.8%

39gEe Siehar - i
T HIA-TT 8/ Which of the following process is not used for case

{iCarburizing

by ATSerslEa/Nitriding
(d)  FAEETET/Normalizing
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& Eil ) Following is Ihe decreasing oraer
ot ueRll & Teed Y et I -

Id steel, Aluminum

| copper, Tungsien

Aluminum

nsity of material | .
Ins;;; =, T Hed :s'ic‘:ﬂﬂ.Hﬁiﬁiﬁﬂﬂf'rungswn. Copper, ml
. arEEeT [Aluminum, mild stee
TR, FjE S, I, & ‘
rgaagnﬂa Yo, S, W ! Mild stecl, copper, tungsten,
sy g i ild steel, tungsten
gamEE=/Copper, aluminum, 1l
)y WINE, 3@%.?@@%.
ing i i ing order of
__ ¥pollowing is the increasing
i Somfafag # ———— €
e F TR & auEe wH
“‘“““‘%%3;;“ fE-m-? :Elcn;l%ﬂ R /Silicon, wngsten, COPPET. aluminum
{I::J‘] T ﬁiﬁﬁ 3%?!‘53@{'&1; #arEesT/Copper, silicon, aluminum, fungsten
‘. ' 1 i | ir
(@) IFNe(BEIA W.Jﬁ%ﬁ =T, aeee [Aluminum, copper, mild steel, tungsten
(dy LA, Fge $EI, I, Zﬂﬁﬁm {Tungsten, mi

|d steel, copper & Aluminum

dR/R)/(GUL) ¥ HIRES qfada &l

istance to mechanical strain

b mmﬁﬂﬂaﬁ.ﬁzﬂﬁmﬁmﬁmﬁqﬁ(
T8 &/For a given strain gauge, relative change in electrical res

(dR/RY(dL/L) is called,

(a) widgel HE@/Stress factor (b) WA TEH/Gauge faclol
(c) WiaRrsal/Resistivity ‘/[d-}-’ arar Jﬂmﬁf Poisson’s ratio
5. HA T ———— & FHT §/Monel metal is an alloy of

{a) FoT U fSs/copper and zine

(by HIIT vd aftfaa# /copper and beryliium

(c) YT TF fdFel/Copper and nickel

(d) ATRERETT vd FFe/Molybdenum and nickel

o) 'g'}ﬁ'ﬂﬂ & Flel-aT SACIT/AAGE S ﬁ'c{_ﬂﬂ]ﬂ &l &/Which of the following Isotope of

Uranium does not exist?

l:ﬂ] . E'ZUJH {h:‘ nqu {G} QJUZH (d) g:,_L]H'T

A afg wzede A =as R A HIor 60° ¥ ol $F9cH EIST & HiOFaH

Il &/In an impulse turbine if angle of blade tip at outlet is 60°, the maximum hvdraulic
impulse wirbine is

(b) 75% ©  90% d)  60%
e & Tav adfEE siifFwser F AE/Quantity of oxygen required for complete
g of methane is
(b) OGkg Ay Skg (d) dkg
www.ErForum.Net
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g AT S @ FE- &/Which of the following is 4 water tube boiler?
) 51%;1?[ FraF/Cochran boiler

) ST ancashire

() FEdE ERE araat/Babeock Wilcox boiler

(@) FEFEAT TTFLocomotive hoiler

AT FEEUMatch the following :

Page 11

3 3 4
4 l pr=C J N PV
T=C 4 El \\ =
e 2 = \
l]'\ 2 g Py =C \J
3 3 2 1
| Y N - v
I
A B C

(a) A-FE¢ FERFE/Camot cycle, B-UawA Agfhal/Ericsson eycle, c-2r5rer drsfEd/Diesel cycle,
D- ZET 2+ wrside/Dual combustion cycle

(b) AFeioer wEfEE/Serling cycle, B-FT=E  HSf&ol/Carnot cycle, C2ET &g WSihe/Dual
combustion eycle, D- HTET FrEfd@/Ono eyele

(c) AF=Tew mEfFa/Sterling cyele, p-ufrme mEfFd/Ericsson eyele, C-H1ET AETHA/Oo cycle,
D- ZrEvT 88 #Efhe/Dual combustion cycle

(d) A-FHE FEREFA/Camot cyele, BFEAT ARMFES/Senling cycle, C-3ET FBFS/On0 cycle,
D- Ziaw ArsfEdd/Diesel cycle

TF STIAT TEEE, S g F Gau A ¥ W S & Ru suaifg o9 awer &
ST GUEE T G A ST § R gE FO3Td SSAT § a9ar §/A boiler accessory that is

used to put off the fire in the furnace of boiler when the water level in the boiler falls below safe level and
revent over heating of ubes

:- Ted/iced check valve

AG) =T 3% FF/Blow off cock
& [Fusible plug (d) 1A FI9 ared/Steam stop valve

el 1 Acfa Tt et & Je[ar i v )T Rt e aarifom

2 ¥ WOTTAT &l - BT 8/When a CNC system is capable of automatically adjusting
eters according to actual cutting conditions the system is said 1o have
@ Fu1/Programmable logic control

lve control
T{Direct Numerical Control

fomatic speed control
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v ool gades, ot el e A R, Qe vl @ & qardt faaor affaa a5

tary actuator which enables precise control of position, velocity and aeecleration of slides in CNC
achines s

W “uATSTEncoder (by  REieaE/Resolver
¢) Fasaaif/inductosyn (d)  FalHIEU Scrvomotor
dEitesw W, SCARA 1€ -~ — ¥ REoil ez Bfn robotics the term SCARA s an acronym far

(a) TANTR o FTes nfEFaes JEE H/Special CNC controlled Articulated Robot arm
(b) deEds weanes HARE TET 3T elective Compliance Assembly Robot Arm
HeF FLos WeTaTrs tEifed H03/Self Controlled Automatic Robotic Armi

&y TS FATEA Ffar EaRs Udifes 3 Standard Cariesion coordinate Au:umatiy)
Robotic Arm

5. A wn wod eeA # ARG ————— Y & F s usually
emploved in open loop control system
(a) ®dl FEServe motor by ST FATTUStepper motor
(<) mﬁﬂmﬂmluclinn molory {d) e =rdT AU Brushless DC motor

66. Hraeirs etew & W w9 #F R dUAdl Wi W A RS & @ @AE ¥ OH @3

FHEE ZaWT SHad A& g & dl 34 - el AT 8/ln CNC part programs commands that

remain in effect in multiple blocks until they are changed by another command from the same group are
called i

(a) T2 Fawsd/Standard commands (b)y HBH FAWSH/Modal cmmtmnd;/
(c) AR TAwgd/Nonmodal conmands /;.d‘,i’ fafaer sAFgH/Miscellancous commands

57. FreErdera & droadr veg #1Ar 8/in CAD/CAM the term *PLCT stands for
(a) WTHH &fFF SEEMrocess logic control
by WS @S dite/Programmable logic control
(c) Gifdes SifH wgld/Position logic control

FeTd/Parameter logical control

Bl o qififer @ @d e & WHE SE W TR A g 3

expected or predetermined and its effect is taken in to account at the time of cost

g/ Administrative scrop (b) & F@9/Legitimate scrap
fective scrap (d) 3"11_13? A F15 AMNone of the above
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59, fedm QiewE:t AFTAT f M =W Fr-a 8 B/Which of the following is nut i mestuu iy

financial incentive payment?
) T dfRas SE/Halsey premium plan (b)

() Uas NI T Rowan premium plan (d)

dzw WifATH o/ Bedaux premivm plan
Sireraree DfFas o/ honson’s premiui plan

70, R eaTa A WE O & fou wgad 7 ¥/in motion study the symbol & is used for

(a) BEaDelay » {h HEA/Storoge A E‘)
oy FrfErlinspection 1Y (d)  WEIEA/Operation C =

mﬂ.wmmﬁmmﬁmnﬁrﬁmﬁqmﬂmhﬂﬁmm
Wwﬁm:ﬁﬂwﬂﬁwmﬁnﬁﬁmmrn;

depreciation amaunt per year for a machine is calculated by substracting scrap Vil lue of machine from its
eriginal value and divide the remaining by number of years of useful life

(2] ETEFE ot A MDiminishing balance method

by FHfET wes OfA/Kinking fund method

(¢) @iy fSer G/ Annuity charging method

(dy Enh @ fF/Strnight line method

" -

-

72. T OE 3 a3 ST 23 #/Gantt chart provides information about
{z) aeaEs &1 ITEEUlisation of manpower
(b mrsfaat Fofaa E:rﬂr'lm'cnrmy of moterials
.fe]  3rHiaH jiﬂﬁmﬂ‘rwlucriml schedule
(dy FE=a q\ﬁ'[-‘_—!aﬁmfinlcx foreensting

areer #1 Al o W Fga of oreanisation is also called as military

73,
organization.
(a) FEFIEAFunctionsl (b)  @T/Line
et @ge Td TEE/Line & siafl (d)  3IgEe A FE AHNone of the above

74. ﬁﬂcmmﬁ?&mﬁé&‘ﬁﬁmﬁlﬁﬁ#mﬁmﬁwmmmg,nﬁ:m
:ﬁﬁwﬁmuﬁ’rmﬂ?ﬁw$ﬁv$.1ﬁﬂ‘raiﬂqﬁwﬁgﬁrmmgammm

cylinder af dinmeter 5 cm and height 75cm need to be clirome plated at all the surfaces, i cost of chrome
plating is Rs | per sg.cm find the total cost of chrome plating. Assume x = 3.14

{ay” Rs.15700 (b) Rs. 31400 (¢) Rs 47100 (d)  Rs. 20400
sig7 Y FEAE A & @Y o N E wiaese @ Sfd @ Intersection of st

byiith & plane parallel to axis of the cone will penerate

/Ellipse (by P/ Trangle
/Parabola (dy  ErEEEETE/Hyperbol

15 681 TAIMECH)
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